Thursday Feb 16, 2012

Pass in assignment
graphing velocity

Warm -Up

1. Tree sloths are the slowest moving mammals. On average, their velocity is
0.743 m/s. How long does it take a tree sloth moving at this velocity to travel

22.3 m?
v = 0.743m/s t=d = 223 m = 30.0s
3:922-3 m v 0.743m/s

2. The cheetah, the fastest of land animals, can run a distance of 274 m in 8.65
seconds at its top speed. What is the cheetah’s top velocity?

d_=8224ém v=d = 274m = 31.7m/s
t=865s t 8.65s

v="

Distance- Time Graphs

shows the relationship between distance and time.
distance is plotted on the y axis and is the dependent variable

time is plotted on the x axis and 1s the independent variable



Sketch what you think a graph for an object in motion would look
like.

Distance - Time graph

Distance
(in Metres)

Time (in Seconds)

Sketch what you think a graph would look like for an object not in motion.
Distance - Time graph
showing an object at rest.
Distance
(in Metres)

Y

Time (in Seconds)

Constant vs Non-Constant Velocity

Constant Velocity B (Constant speed)

(km)
If the speed of an object
remains the same, it will
show as a straight line on
a distance-time graph

Non- Constant Velocity e
If the speed of an object % i
changes (non-constant), it z !
will show as a curve on a - /
distance-time graph. it '
..'..a"'

fime n semnds



Calculating Speed

To calculate the actual speed on a distance time
graph you calculate the slope. Slope can be
calculated using the following formula(s).

v=rise = d2-di -Vy2-wi
run -1 X2 — X1

The steeper the slope the faster the object is travelling.

Interpreting a distance-time graph
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How long did it take to drive
/ | 300 kilometers?
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How far did the car travel in
/ 3 1/2 hours.
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What was the average speed
for the journey?
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. Calculate the average speed for the men and the average speed for the women when they each set the
Canadian records for the following races. State each answer with the correct certainty and units.
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2. According to the calculations in question 1, who is the fastest person in Canada?
Convert the record setting speed to the value in kilometres per hour.
Fossvesy RIS STEN

v~ Cemados s {\1\(3’\3} o Enalimer
T Y3 ekm = 25 Z2ken
- -









images/clipboard(2).png

Blackline Master 9.5b

Average Speed: Exercise 1








settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1               






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=0B386B82-8BF0-4241-A25A-2066FC84A688  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2009-09-15T12:17:12  1.0  LOMv1.0 final






preview.png









page0.svg

  Sep 15-12:17 PM    




SMART Notebook




images/clipboard.png

S0 15d Avecase Speed T Ex 2
Arsioers

. VovSonmas Ad = 25%km = 22.&km/in

[N 3.0t
Bus
Nav Kyle = 84 = Lzskm = 70-% K/~
[ L EIN
7. 0F= Ad = 240k = 2.9 N
TN Vv ASKe/in
Tean
%\&& =8d = @BEm =W
Nov A/
d.na =(Waydladd
TR 2 (D0km/RI(O BORD
= 2.5 X\o* ke
Aw

Way) (at)
23 ke /WM 2.67TTR)
= 7T ke~









images/clipboard(1).png

s ave=0.80n

sorme grsand

Kyleaw = 2.7
S Hrankbus  kyegrowd Thrantious
= 2B+ 300 ESa R SN2Y
=5 Gn = own
& grownd —awx
s 9:?;\25 Q%gv-\ o ?\oh -2.6Mn
AP soved

13 N sawd
kyle wauld  sove Bt me9Sk fime by ClooSin
e Yravel over ground Jrovel

A DWW are Soved








settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1                






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=3B125305-B5C3-4E5B-B5C5-13ED50407205  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2009-09-15T12:22:56  1.0  LOMv1.0 final






preview.png

. Yoy eh

o -

g g -

e
e

e
-









page0.svg

  Sep 15-12:22 PM  






page1.svg

  Sep 15-12:23 PM  




SMART Notebook


	Page 1
	Page 2
	Page 3
	Attachments Page 1

